HSC 2010 - Information Processes and Technology
Question 14

Use this table to answer Questions 14 and 15.

A real estate agency has the following rental properties in its database:

Properties
Address Rent | Type Branch
19 Bleweut St, Hurstville 270 House Hurstville
17 Bevan P, Padstow 260 Flat Bankstown
16 Gilchrist Dr, Allawah 250 Flat Hurstville
43 Hayden PI, Revesby 210 Townhouse Hurstville
99 Waugh St, Hurstville 200 House Bankstown

14 What would be the output from the following SQL statement?

SELECT Address, Branch FROM Properties WHERE Branch = “Hurstville™;

(&) [Address I Rent ' Type Branch l
(B) [ Address Rent Type Branch
19 Blewett St, Hurstville 270 House Hurstville
16 Gilchrist Dr, Allawah 250 Flat Hurstville
43 Hayden Pl, Revesby 210 Townhouse Hurstville
(©) [ Address Branch
19 Blewett St, Hurstville Hurstville
99 Waugh St, Hurstville Bankstown
v’ (D) Address Branch
19 Blewett St, Hurstville Hurstville
16 Gilchrist Dr, Allawah Hurstville
43 Hayden P, Revesby Hurstville
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Question 14 : % answers correct by band range
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